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Abstract
The evaluation process of transportation problem required finding
basic feasible solution (bfs). Represent the base of decision making
process. To purpose start anther batter solution to able from decisions
taking process, consider the decision making process, find (bfs)
represent the standard form in linear programming (LP). Most
important stage of update (bsf) stages that achieved minimum cost (the
optimal solution). the goal of paper to improving & evaluation (bfs) by
new procedure (proposed method) comparison with VVogel method.
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j=ni=m

Min (2) = ZZCinij
=1 i=1
ST (1)
j=n
Xi=a , 1=123,......... ,m
j=1
...................................... @)
S Xi=bi , j=123
i=1
...................................... 3)
Xij=>0
e (4)

ad e 3 e (Basic  Solution) J-il A diad Jg-fall (A gY) bl Ja o
Coxbe N*M @il aas Jan any, (2) ) (3) sl ¥ alaa Jay cian g A @l piial)
bl Jally Jal) o du (4) Ja il 38a5 130 g ¢ shuall 4 e n+m 3580 21s Lgia
Jadl ggd Jai AUCial JiaY) Jad) gady Lad L (Basic Feasible Solution) Js-iall
LA gl Jgladl aran i 00 (1) Aalead) B8y sM) g J gl oulad)
IS S Al AU AdCEy Aladd) daca ) 73 gadl b SI3S

Max (Z) =§aiUi +JZ=n:ijj
il =1

S.T.
Ui+ Vj < Cj

Ui, Vjare URS.
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de ) Jlie¥) Bty (A Jasall g Jagd 8y sk Lt sla g ALY Gany ) (ki
Joiall bl Jal) ) Juasill A Bagadl g 3olESt) 5 481
(M=4)=(n=4) Lic Jaall 44 b aladindy - | 1(1) Jbia

D1 D2 D3 D4 | Supply
20 16 14| 20
S1 4 5 9
9 15 16 10
S2 5 3 8
8 13 5 9
S3 1 6 7
9 6 5 11
S4 5 5
Dema | 4 10 5 9
nd
" 11.5 125 10 125
8 115 125 ... 12.5
& 867 113 ... 10
S . 113 ... 10
-E ..................... 10
..................... 10

Jj=Nni=m

175
125
8.75

7.75

11.67

10

8.67

Differences

1167 125 .......
10 11 1

867 85 85

Min(2) = ZZCij Xij = 306 = (2) Optimal

j=1 i=1

(M=4)=(n=4) Lesis Ja b 48k aladinly - o 1(2) Jla

D1 D2 D3 D4 Supply

20 16 14 20

Sl 5 4 9
9 15 16 10

S2 5 3 8
8 13 5 9

S3 5 2 7
9 6 5 11

S4 5 5

Demand 5 10 5 9
J=Ni=m

Min(2) = ZZCinij =308

j=1 i=1

JEaY) Jall A Jgma sl A ) Al b saall A8y sk o oSle ] JUial) (e Baadl
(S ACdial 4308 A8 4TI La 138 g ¢ (B_sila B gaay J gua gl
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M=6)=(n=6) Ledie Jarall 4k jh aladinly - ) 1(2) Jla
pi | D2 | D3 | D4 | D5 | D6 SLI’YPP Differences
5 1 2 3 4 7
o 400 wo | 367 36 275 275 275 275
7 2 3 1 5 6
o o | s00 | s 500 4 38 325 325 325 325
9 1 9 5 2 3
s3 300 30 | 48 54 6 -
6 5 8 4 1 4
o 150 50 | 467 54 575 575 575
8 71 11 6 4 5
S5 100 | 250 | 250 | e00 | 888 14 8
2 5 7 5 2 1
U S wo | 367 4 475 475 475 475
Demand | 300 | 500 | 700 | 300 | 250 | 250
616 35 667 4 3 433
616 35 667 4 .. 433
. 616 35 667 4 err e
8 58 28 58 36 e o
S 5 325 5 325 o
3 467 267 4 3 e
a 2.67 4 3 e e
15 25 2 e e,
j=ni=m
Min(2) = ZZCinij: 6650
=1 i-1
(M=6)=(N=6) Letic Jash dby ha aladinly -
D1 D2 D3 D4 D5 D6 S“;’p'
5 1 2 3 4 7
S1 400 400
7 2 3 1 5 6
S2 200 300 500
9 1 9 5 2 3
S3 200 100 300
6 5 8 4 1 4
S4 150 150
8 7 11 6 4 5
S5 300 100 200 600
2 5 7 5 2 1
S6 300 50 350
Demand 300 500 700 300 250 250
j=ni=m
Min(2) = ZCij Xii= 7100
=1 i-1

4K cpa JB) Jaral) A8y ph aladiiady JAL) AlSdal A0S 4GS ¢ ¢(2)JUall (e Badl
Laa 1 9 Janal) Ay JAa¥) Jadl () Jsasl O 31 b 4l oy g guunal) 210

da i) 43y Jlatl) BeliS g Basa Of o Ju

(N=4) < (M=5) Letic Janall iyl aladiuly -  1(3) Jlie
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D1 D2 D3 D4 | Supply Differences
10 20 5 7
s1 10 10 20 105 105 733 733 7.5
13 9 12 8| | JALE AAE a4 eeseens
S2 20 10 30 105 105
4 15 7 9
$3 20 20 875 8.75 6.67 6.67 55
14 7 1 0 R,
s4 40 a0 |°°
3 12 5 19
S5 30 10 40 9.75 9.75 9 9 4
Demand 50 60 20 20
8.8 12.6 6 8.5
7.5 14 7.25 1‘;'3
14.3
g 75 . 725
3 11.6
& 567 oo 567
= z
5.67  ....... 5.67 T
35 ... 6 U
. j=ni=m
Min(2) = ZZCij Xij= 880
j=1 i=1
(n=4) < (M=5) Letis Ja b dby b aladinly - o
D1 D2 D3 D4 Supply
10 20 5 7
S1 20 20
13 9 12 8
S2 30 30
4 15 7 9
S3 20 20
14 7 1 0
S4 0 20 20 40
3 12 5 19
S5 10 30 40
Demand 50 60 20 20
. j=ni=m
Min(2) = ZZCU Xij= 960
=1 i=1
n=5) > (M=3) Laiie Jamall 48 jh aladinly - § 1(4) Jla
D1 D2 D3 D4 D5 | Supply Differences
7 6 4 5 9
S1 200 100 300 6.2 E
8 2 1 0 3
$2 400 | 100 | 100 600 28 15 15 122 05
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7 7] 4 3 2
s3 200 | 400 | 600 | 40 4 4 3
Demand | 200 | 400 | 200 | 300 | 400
2 733 5 3 267 4.67
e . 5 3 267 4.67
S 45 25 15 25
£ 25 15 25
O 25 15 ...
j=ni=m
Min(2) = ZZCij Xij= 4100 = Optimal (2
=1 i=1
(n=5) > (M=3) Leis Ja s dby b aladinily - o
D1 D2 D3 D4 D5 | Supply
7 6 4 5 9
S1 200 100 300
8 2 1 0 3
S2 400 200 0 600
7 7 4 3 2
S3 200 400 600
Demand | 200 400 200 300 400

Min(2) = ZZCij Xij= 4300

j=ni=m

j=1 i=1
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(M=10)=(n=10) Lexic Jarall &by k pladinls - | :(5) Joa

DL | D2 | D3 | D4 | D5 | D6 | D7 | D8 | D9 | D10 | Supply
0] 30| 50| 70 20 40 20 35 40 5 o
s1 | 250 150 100
20| 30| 35| 45 65 55 25 15 10 50| 200
) 300
20| 10| 20| 15 30 25 45 55 60 35 4
s3 400 300
60| 15| 30| 20 60 45 35 40 25 0 e
sS4 50 200
20| 20| 35| 25 55 40 30 50 20 30 [ s
s5 | 300 | 50 400
10| 25| 25| 30 40 35 25 45 30 0 00
s6 | 450 200 50
20| 30| 15| 40 35 15 20 40 10 351 200
s7 500
25| 35| 10| 50 25 20 15 20 25 550 100
S8 50 50
30| 45| 25| 35 15 30 10 30 30 I s
S9 150
55| 30| 45| 15 20 10 20 15 25 5 o
510 150
Deg‘a” 1000 | 500 | 200 | 300 | 300 | 600 | 100 | 500 | 400 | 200
j=n i=m
Min(2) = ZZCUXU: 63500
=L i=1
(M=10)=(n=10) lexie Jasd &y sk aladialy - i 1(5) Jia
DL | D2 | D3 | D4 | D5 | D6 | D7 | D8 | D9 | D10 | Supply
0] 30| 50| 70 20 40 20 35 40 15 .,
s1 300 100 200
20| 30| 35| 45 65 55 25 15 10 501 200
) 300
2 10 20| 15 30 25 45 55 60 5 00
s3 500 | 150 | 50
60| 15| 30| 20 60 45 35 40 25 0] e
s4 250
20| 20| 35| 25 55 40 30 50 20 KT
S5 200 | 100 | 450
0] 25| 25| 30 40 35 25 45 30 0 00
6 700
20| 30| 15| 40 35 15 20 40 10 I
s7 400 100
25| 35| 10| 50 25 20 15 20 25 51 100
S8 50 * 50
30| 45| 25| 35 15 30 10 30 30 KT
S9 150
55| 30| 45| 15 20 10 20 15 25 5] s
510 150
Demand | 1000 | 500 | 200 | 300 | 300 | 600 | 100 | 500 | 400 | 200

Min(2) = f:in:Cij Xij= 77000

j=1 i=1
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B
4. Bermard Kolman & Robert E. Beck (1995) “Linear programming
with application” 2" edition
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MNET Problem 3 pecifi

rProblem Type | [ Objective Criterion
O Network Flow @ Minimization

@ Transportation Problem ' Maximization

(1 Assignment Problem
" Data Entry Format

Clbaiatiableticn ® Spreadsheet Matrix Form

) Maximal Flow Problem O Graphic Model Form
O Minimal Spanning Tree

) Traveling Salesman Problem [i.e.. both ways same cost]

Problem Title [Ex5 |

MNumber of Sources Number of Destinations

(114 | Cancel I | Help

r
1y Starl

. Network Modeling

Version 1.00
e - Copyright © Yih-Long Chang

Licensed to: SARMD
Company: OR.

Please wait while loading program__.
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) Row Minimum (RM)
C Modified Row Minimum [(MAM)

C) Column Minimum (CM)

C Modified Column Minimum [MCH)

C) Northwest Comer Method [NWC)

) Matrix Minimum [MM)

@Wogel's

Method (VAM):

O Russell's Approximation Method [RAM)

A=l
BEE
[51:D1 [10
From \ To D1 D2 [ D3 D4 D5 [3 D7 D8 [ D3 [ D10 | Supply
51 0 35 15 500
52 20 15 50 300
53 0 55 25 700
54 60 40 10 250
55 20 50 30 750
SE 10 45 40 700
57 0 40 45 500
S8 25 20 25 100
59 30 an 30 150
510 55 15 150
| [Demand 1000 200

| 10 30 | 50 | 7o 20 40 | 20 | 35 | 40 | 15
250 250
| 20 30 | 35 | 45 E5 55 | 25 | 15 | 10 | 50
300
| a0 10 | 20 | 15 30 25 | a5 | 55 | 0] | 25
200 150 250 100
| 0] 15 | =0 | 20 £0 a5 | 25 | a0 | 25 | 10
50 200
| 20 20 | 25 | 25 55 a0 | =0 | 50 | 20 | =0
50 300 400
| 10 25 | 25 | 30 a0 35 | 25 | a5 | 30 | a0
Fo0
| a0 30 | 15 | a0 35 15 | 20 | a0 | 10 | a5
500
| 25 35 | 10 | 50 25 20 | 15 | 20 | 25 | 25
50 50
| 30 45 | 25 | 35 15 30 | 10 | 30 | 30 | 30
50 100
| 55 30 | 45 | 15 20 10 | 20 | 15 | 25 | 15
150
Objective WValue = 61250 (Minimization)
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